Aircraft Type: Xenon R/RT/RST
AVIATION Artur Trendak page | 604

Z
L Secure all bolts mentioned on drawings below with security wire 1

J

Assembling turbocharger

2530 (x2) Washer Grower dia 10

2539 Nut Nyistop M8

2532 Washer nylon dia 10:22x5

2524 Screw BTR M8x20

e
o {488 ) |4
! = T
\\ g
! 1

o
ZN el

oW1 B

\ 2531 (x2) Screw BTR M10x25+

) safety wire

VA
v.*.‘ Standard Turbo screw
) ST T B au h‘l‘.
e = 2529 Washer Grower dia 8
' ‘ }‘ 2502 Turbo holder small
A ‘.
& 2
2528 (x4) Screw M8x30
2522 Turbo gasket

2520 (x4)Nut M8 copper-plated




AVIATION Artur Trendak

Aircraft Type: Xenon R/RT/RST
Page 2 of 4

2530 Washer Grower dia 10

2531 Screw BTR M10x25+ safety wire

2524 Screw BTR M8x20

2530 Washer Grower dia 10

2501 Turbo holder left

2521 Turbo gasket

2525 (x4) Screw M8x20 + safety wire

2529 {x4) Washer Growaer dia 8




AVIATION Artur Trendak

Aircraft Type: Xenon R/RT/RST
Page 3 of 4

2319 Air Box

¥

=l

)

!
i
| _Rubber ¢50 L=55

Rubber 750 L=45

Rubber ©50 L=

U115 et

| ;.?.524 {x2) Screw BTR M8x20

2500 Turbo holder right

!2533 Spacer dia 8x20x10{metal)

I 2529 Washer Grower dia 8
. +safety wire

Rubber ¢50 L=250mm

i 2357 Air filter alu angle

2360 Air filter cylindrical (K&N)

(1} Put metal clamps to connect rubber tubes
(Laczy¢ elementy gumowe metalowymi opaskami)




Aircraft Type: Xenon R/RT/RST
AVIATION Artur Trendak Paeadtd

OIL outlet assembling

2523 Turbo oil gas

2331 Qil outlet

2528 (x2) Washer Grower dia 6

2527 (x2) Screw BTR WM6x20 + safety wire




